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In the box:

- 20 character cards (red back)

- 24 hat cards, including 4 Magic Hat cards (green back)
- 16 penalty tokens

- Index characters and hats

What is this dame about?

Memorizing the cards, matching, bluffing
and misleading the other players a bit.

The object of the dame

Match the character with the hat. Collect as
many matching combinations as possible:
character + hat.

Before you begin

1. Shuffle 20 character cards and place 7 cards in one row
face up on the table.

2. Shuffle 24 hat cards and place 7 cards face down above
the character cards: one hat card above each character
card. Place the rest of the cards face down in 2 piles:
characters pile and hats pile.

Game play

The youngest player starts the game.
Each player, in his turn, must do one of the following options:

1. Check a hat: Choose a hat card above any character and
open the card without showing it to any other player.
Then place the card back.

2. Swap a hat. Choose two hat cards and swap them without
opening them.

* Note: It’s a good idea to remember which
hat cards were checked and switched by
your opponents.

3. Open a hat. The player says “l open a
hat!” and reveals the chosen hat card
above the character card.

« If it’s a match and the hat belongs to
the character, the player collects the cards.
Note: If you are not sure, there is an index

card with the correct matches.
Two cards are replaced from the drawing piles - a character
card is placed face up and a hat card is placed face down.

« If it’s not a match and the hat doesn’t belong to the
character, the player turns the hat card face down again
and takes a penalty token.

« If it’s the Magic Hat card, then the player takes only
the hat card and a new card from the draw pile is placed
above the character. At the end of the game one Magic Hat
card will cancel one penalty token. It’s a very useful quality!

The end of the dame

The game is over when there are only three pairs of
character and hat cards left on the table.

Count the points. Each pair of cards that you have is
one point, each penalty token is minus one point.
Remember that each Magic Hat card cancels one
penalty point.

The player with the most points is the winner!

Note: Sometimes there will be no
character-hat match amongst the
cards that are placed on the table
(and no Magic Hat). This may come
up in the first few rounds. In this case
shuffle the cards again and re-start
the game.
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